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Question Number : 1 Question Id : 41652913416 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The number density of molecules of a gas
depends on their distance r from the origin
as, n(r) =nge @? Then the total number

of molecules is proportional to :
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Correct Marks: 4 Wrong Marks: 1
A particle is moving with speed o=b Jx
along positive x-axis. Calculate the speed
of the particle at time t =1 (assume that the
particle is at origin at t=0).
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Two particles are projected from the same
point with the same speed u such that they
have the same range R, but different
maximum heights, h 1 and h:r Which of the
following, is correct 7

Options:

2=16 hjh,
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A block of mass 5 kg is (i) pushed in case
(A) and (ii) pulled in case (B), by a force
F=20 N, making an angle of 30° with the
horizontal, as shown in the figures. The
coefficient of friction between the block and
floor is p.=0.2. The difference between the
accelerations of the block, in case (B) and
case (A) will be : (g=10 ms~?)

_#F=20N
_____ T R 1
kR
R
F=20N
(A) (B)

Options:
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A spring whose unstretched length is [ has
a force constant k. The spring is cut into
two pieces of unstretched lengths J'I and !2
where, J'l =nl'2and nis aninteger. The ratio
k,/k,of the corresponding force constants,
k, and k, will be:

Options:
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A smooth wire of length 27r is bent into a
circle and kept in a vertical plane. A bead
can slide smoothly on the wire. When the
circle is rotating with angular speed w about
the vertical diameter AB, as shown in
figure, the bead is at rest with respect to
the circular ring at position P as shown.
Then the value of w? is equal to :
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Three particles of masses 50 g, 100 g and
150 g are placed at the vertices of an
equilateral triangle of side 1 m (as shown
in the figure). The (x, y) coordinates of the
centre of mass will be :
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The ratio of the weights of a body on the

Earth's surface to that on the surface of a

1
planetis 9 : 4. The mass of the planetis ﬁlh

of that of the Earth. If 'R’ is the radius of the
Earth, what is the radius of the planet ?
(Take the planets to have the same mass
density)

Options:
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A uniform cylindrical rod of length L and
radius r, is made from a material whose
Young's modulus of Elasticity equals Y.
When this rod is heated by temperature T
and simultaneously subjected to a net
longitudinal compressional force F, its
leng th remains unchanged. The coefficient
of volume expansion, of the material of the
rod, is (nearly) equal to :

Options:
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A solid sphere, of radius R acquires a
terminal velocity v; when falling (due to
gravity) through a viscous fluid having a
coefficient of viscosity m. The sphere is
broken into 27 identical solid spheres. If
each of these spheres acquires a terminal
velocity, 5, when falling through the same
fluid, the ratio (v,/v,) equals:

Options:

41552352475, ?

416525952473, 1/9

41852952480,

41652952481, 1/ 27

Question Number : 10 Question Id : 41652913425 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

=21 R & U 219 el I, ¥99a1 T F 7 5
U 24 H (T 76 % HE0) HHA o,
2| =fz T3 319 Tiel = =3 e % 27 T
H @l S o Wl el 1 S 9 56 54
ﬁIJEWW%J ﬁrﬁlfrﬂzﬂﬂqﬁﬁ"ﬂ:
Options:

416523852478,
416528952479,

41552352480,

41652950481, 1/ 27

Question Number : 11 Question Id : 41652913426 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



A Camot engine has an efficiency of 1/6.
When the temperature of the sink is
reduced by 62°C, its efficiency is doubled.
The temperatures of the source and the sink
are, respectively,

Options:

41552352482, 9°C, 37°C

24°C. 6
41652952453, 124G, 62°C

o
41650050454, 7 < 99°C

41852952485, 62°C, 124°C
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A diatomic gas with rigid molecules does
10 | of work when expanded at constant
pressure. What would be the heat energy
absorbed by the gas, in this process ?

Options:
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A small speaker delivers 2 W of audio
output. At whatdistance from the speaker
will one detect 120 dB intensity sound ?
|Given reference intensity of sound as
1012 W/m?]

Options:

41652952490, 10 cm

MY
41650952491 20 cm

416509524gp, 0 €m
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Two sources of sound 5, and S, produce
sound waves of same frequency 660 Hz. A
listener is moving from source S, towards
S, witha constant speed u m/s and he hears
10 beats/s. The velocity of sound is
330m/s. Then, uequals:

Options:

2
41650050494 =0 M/

41650950405, -0 M/S

41650952496, 100 m/s

4165259524397, i
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Let a total charge 2 Q be distributed in a
sphere of radius R, with the charge density
given by p(r) =kr, where r is the distance
from the centre. Two charges A and B, of
—Q each, are placed on diametrically
opposite points, at equal distance, a, from
the centre. If A and B do not experience
any force, then :

Options:

oo e
4le5pacoqeg, A=0 R
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41652952499, 9 < R
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41652852500,
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In the given circuit, the charge on 4 pF

capacitor will be :

Options:
41652952502, -6 WC

)
41espasosos, 21 HC

41650952504, - ERC

41652052505, 104 BC
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41652852502, -0 RC
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41650952503, 24 KC
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One kg of water, at 20°C, is heated in an
electric kettle whose heating element has a
mean (temperature averaged) resistance of
20 2. The rms voltage in the mains is
200 V. Ignoring heat loss from the kettle,
lime taken for water to evaporate fully, is
close to :
[Specific heat of water=4200 J/(kg “C),
Latent heat of water=2260 k] /kg]

Options:

3 mi .
AfEEBesIE0E ¥ ITIiEs

41650950507, 10 minutes

22 mi
41652952508, Tt

41650950500, 10 minules
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An electron, moving along the x-axis with

an initial energy of 100 eV, enters a region

of magnetic field B =(1.5x%10 *T}k ats
(See figure). The field extends between
x=0and x=2 cm. The electron is detected
at the pointQ on a screen placed 8 cmaway
from the pointS. The distance d between
Pand Q (on the screen) is :

(electron’s charge =1.6 x 10~ 19C, mass of
electron=9.1x 10 3! kg)

104

Options:

1.22 cm
41552952510,

lj —
41650950511 1287 cm

41650050510, 1160 cm

2.9
41652852513, 223 e
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Find the magnetic field at point P due to a
straight line segment AB of length 6 cm
carrying a current of 5 A. (See figure)

(,=47x 10 7 N-A~2)

[J
i
SR
il R 3
-é:;r; . : b,
oo [
Qj.r i L \‘%
/ i : x
#l' - P
A B
k 6 cm '
Options:
5
41650050514 10X 10T
~ 5
41652050515, >0x107°T
5
41652950516, 22X 1077 T
5
41650952517, 0x107°T
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5
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] 5
41552952515, 2.0x10 T

5
41652952518, 22X 1077 T

D
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Consider the LR circuit shown in the figure.

If the switch 5 is closed at t=0 then the

amount of charge that passes through the

L
battery between t=0 and ifﬁ is:

Options:

41652050518, R

2.7EL
|
R.._
41529525149,
EL
27R2
4152952520,
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= '-"‘PRZ
4152952521 . s
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A plane electromagnetic wave having a
frequency v=23.9 GHz propagates along
the positive z-direction in free space. The
peak value of the Electric Field is 60 V/m.
Which among the following is the
acceptable magnetic field component in the

electromagnetic wave ?

Options:
— A
- - N 3. 11
4165295520, B = 0sin(05x 10 + 1.5x W-gk
B 7 3 & P
4165205552z B = 2X10 "sin(0.5x1072 = 1.5 X 10743
B ’ 3 s
B = 2x10'sin(0.5%10°z + 15 % 10" "t)i

416528952524,



2 Lr ¥ 'nZ
B = 2x107sin(1.5%10%x + 0.5 x 10'4) §
41652952525, -
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HeR A H v =23.9 GHz %l U THqa faed
TEEHIE T TAHE -4 F o9 F F=m
W T 3 fagd &9 # aAfusan 7e
60 V/m T1 =1 5 9 F1 = fasew 59 W
F T 49 & fad w=ied € ?

Options:
B= in(0.5 x 107x 1§
41850950505 B = 60sin(0.5 x 107x + 1.5 x 107 't)k
B + 3 5 LA
i , o _
41652952523 B = 2x10 ‘sin(0.5x%10"z — 1.5 x 10" ") 4
B 4 3 1%
415595050, B = 2X10&n(0.5X10°z +15 X 10 1)1
s16500505ps, B = 2¥107sin(1.5x10% +05x 10y

Question Number : 22 Question Id : 41652913437 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
A transparent cube of side d, made of a

material of refractive index p,, is immersed
in a liquid of refractive index p,(pn;<p,). A
ray is incident on the face AB at an angle
B(shown in the figure). Total internal

reflection takes place at point E on the face

BC.
B /E\ C
/,f'f/ i \
T -
Ho
&
|
A B

Then 6 must satisfy :

Options:



l]{5ﬁ1_I\IM—§ 1
41652952526, =4
| 2
H >sin ! JM—E 1
Vit
41652952527
H}sin_”L—I
41652952528, 2
0 <sin 1HL
Lo
41852952509
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-ijﬁﬁﬁﬁmﬁﬁﬂﬁuz{uﬁpﬂ
F YR T2 H A A S | TH FH UF
0 50 T2F F T2 AB W 59 ¥4, fFaER,
0 I R AN el ¢ 1 TS BC F AT E ™R
U SR WIEE 8 & o, 0 % A SE
1 g G 0T ?

B E C
PN
Ay
N %
j# Ho
Hq
A D
Options:
J. B
. —1 [H2
) < sin \I—,J 1
41552952526, "
| 2
B >sin ! JM—E 1
Vi
41552952527,
p >sin 1EL
K2

416525952528,



-1h
B2

fl < sin

416525952529,
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A system of three polarizers P, P, P'; is set
up such that the pass axis of P, is crossed
with respect to that of P;. The pass axis of
P, is inclined at 60° to the pass axis of P,
When a beam of unpolarized light of
intensity I, is incident on P, the intensity
of light transmitted by the three polarizers
is I. The ratio (I,/I) equals (nearly) :
Options:

41652852530, 1.80

416525952531, 5.3

41552352532, 10.67

416525952533, 16.00
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1 gaFi P, P, 991 P, F1 39 e W & &
P, 1 -4 P, %1 T4 A T FMFI &1 P,
I T34 P, F TH-39 T 60° F WL
o= UF 1, dieen =1 SAgfad e 6 s Py
T SATIfad 2 ¥ 9 56 o g & FHEsE
T 1 e 1 g fwo g9 frfg @ 2
SIIA (I, /1) T FHeFead 9H 20

Options:

416525952530, 1.80

41652852521, 5.3

41552352532, 10.67



41652852533, 16.00
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Correct Marks: 4 Wrong Marks: 1
Consider an electron in a hydrogen atom,
revolving in its second excited state (having
radius 4.65 A). The de-Broglie wavelength

of this electron is :
Options:

416528952534,
416525952535,
41652852536,

41552352537,
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U BISSIS WA H SeTaei- S Saifad el
Hug @I E (59 w465 A ®1)
™ T i fe-de e &
Options:

]

41852952554, 35A

41652952535, 00 A

41652950536, 27 A

41652852537, 129 A
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The electron in a hydrogenatom first jumps
from the third excited state to the second
excited state and subsequently to the first
excited state. The ratio of the respective
wavelengths, A 1 / Ay, of the photons emitted
in this process is :

Options:

41652952538, 2

41652952539, //°

41652952540, /7

2
416523952541, )
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U BISSIS WM H SefagiH el A Swifed
T H A Seifad a1 H SR qeqvEg
<G | qYH Ieifad e H Sar E1 s 9
T H IS A & Ha aiTes H
ST A /N, B

Options:

41652952538, Y

41652952539, //°

41652952540, /7

2
416523952541, )
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Half lives of two radioactive nuclei A and
B are 10 minutes and 20 minultes,
respectively. If, initially a sample has equal
number of nuclei, then after 60 minutes, the
ratio of decayed numbers of nuclei A and
B will be:



Options:
41652952542, 18

41650952543 08

416525952544,

3:8
4152952545
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<1 IfeAnndt e, A 941 B, 1 15T, FEE:,
10 minutes T1 20 minutes | 4% TH T
H ARy § M1 A F G e §
60 minutes U¥EIq A 1 B & &fgq A9
i WA 1 S B
Options:
41652052542, 118

41650952543, 0 -8

41852952544,

3:8
41552952545
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Figure shows a DC voltage regulator
circuit, with a Zener diode of breakdown
voltage=6V. If the unregulated input
voltage varies between 10 V to 16 V, then

what is the maximum Zener current ?

3 ‘-'IIII.IIH'
o
—

I
-
o
»]

[P
>

Options:

41652952548, /-0 MA

41650952547 10 MA

)
41650050548, =0 MA

4165095054g, 00 MA
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o ¥ oo dieeal =6V F 9 2ETS 4 F91
faera faas ftoy femmn 21 afz sifEtE
fator fawa 10 V 991 16 V & =9 agera &
o S =ETE § SAfasad | & 9 20

’_h_ ;; R; =4 k)

Options:
41652952546, /-0 MA

41650950547 10 MA

2
41652852548, 2 o

41650952549, 00 MA
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Correct Marks: 4 WrongMarks: 1
In an amplitude modulator circuit, the

carrier wave is given by,

C(t)=4 sin (20000 7t) while modulating
signal is givenby, m(t) =2 sin (2000 wrt). The
values of modulation index and lower side
band frequency are :

Options:

41650950550 0-3and 9 kHz

41652052551, O-4and 10 kHz

41652952552, -0 and 10 kHz



41655455553, (.5and 9 kHz
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U HAEH HiEed 9 § [HEen 9w i
C(t) =4 sin (20000 wt) &, & wiger fo=a
m(t) =2 sin (2000 wt) ¥ | HZeA Gahish a4
=t wvd S wgte % 99 @

Options:

416523952550, 05 941

41552352551, 0.4 931 10 kHz

41652952552, 0.5 10kHz=

41652950553, 00 A9 KkHz
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A tuning fork of frequency 480 Hz is used

in an experiment for measuring speed of
sound (7) in air by resonance tube method.
Resonance is observed to occur at two
successive lengths of the air column,
[ = 30 cm and ;22;7{] cm. Then, v is equal
o :

Options:

1
41652952554, 208 ms

1
41652950555, O/ 9 MS

1
41652050556, 04 MS

] 1
41650950557, 02 mS
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AR Ael fafy g ag | | #: =9 (o)
1 3 % fed wF w9 H 480 Hz 99+
AT 1 STER A § | A TR i 2l St
F‘lﬁlﬁ?ﬁ I.I=3{] cm T4l I_.,_=?{] cm F o
AR W B &1 T o HAE

Options:

41652050554, 298 ms

1
41652950555, o/ MS

1
41652952556, 04 MS

1
41650952557 J02mS
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Correct Marks: 4 Wrong Marks: 1
A moving coil galvanometer, having a

resistance G, produces full scale deflection
when a current | g flows through it. This
galvanometer can be converted into
(i) an ammeter of range 0 to [, (I, > Ig} by
connecting a shunt resistance R, to it and
(if) into a voltmeter of range O to V (V=GI,)
by connecting a series resistance Ry, to it

Then,
Options:
-,|2
By
R Ry=G?and z—= =1
ATY Rv llﬂ_lf’-)’
41EEZ29525E5E,
" .R_.-*-= g
R,ﬂ;R'\.’ :GJ_ al“ld RV I:]-ﬂ-_]g]
41EE5Z29525E9,
-rr Ii“
R:"LR"»7 =G.—i = ::I_T"Id
oI,
\ 2
Ra _ [E” 's |
Ry Iy )

41552352560,



416525952561,
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uﬁﬁuc%wwﬁwﬁrﬂmﬂﬁw%
T O FHET T S €| 59 R
0 H 1y (Ip> 1) ¥ & i H U ¥ie wfeay
R, T Tafdd 3 Hehd & | SH SR
1 TWH 0§V (V=Gl,) ¥ dezdiet § tF
Ul WiedIy R,, TP IfEfid & T |

dl :
Options:
I/ l ‘\IJ_
s A_|_8 |
R,Ry=G27en 1 E\fu—igj
41652952558,
Ra 1
RARy=G* R, " [1,-1
416529525549, :
|( I \l
RAR'J—G::I ’T’I | qem
o g )
- 2
Ra _[lolg |
Ry X
41652952560, s )
W L
o -aT e |
RARy =G7| — 5 e
g )
| 2
Ra | lg
Ry .ll:lﬂ_I}' ]
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Question Number : 31 Question Id : 41652913446 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
In the following skew conformation of
ethane, H' —C—C—H" dihedral angle is :

Options:

0
41652852562, 58

L]
41552352563, 151

41652950564, 149

2
416525952565, 120°
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Tdgq & 9 fauRaa@ 999 |,
H -C-C-H" fgaa #im & :




Options:
L5}
41852952562, 58

L]
41552352563, 151

41652950564, 149

2
416525952565, 120°
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The ITUPAC name for the following

compound is:

I I3C:"-H.,_ ’__.-""--.._.__..... _.--"'-'- "‘-\-H ﬁ CH

T, T
T

‘ ~CHj

CH»
Options:

3,5-dimethyl-4-propylhept-6-en-1-
41652952565, YH€

3-methyl-4-(3-methylprop-1-enyl)-1-
41652952567, neptyne

3,5-dimethyl-4-propylhept-1-en-6-
41EE2952EEE, o

3-methyl-4-(1-methylprop-2-ynyl)-1-

heptene
41E52952569,
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=1 4ifires & fow IUPAC M #

CHy
H3C ~_ ~.=tH

e

Tl
[

CH»>

Options:
3,5-ZEHfIA-4-9IT e =-6-39-1-
41eEZ29525E6E, A

3-HIgE -4 (3-HigedrI-1-3MHe) -1 -

41652952567, € %]

3,5-STgHIA-4-FIfTee=-1-39-6-

41652952568, Ned

3-Hie -4 (1 -HTae9rT-2- e ) -

41650950569 L 00

Question Number : 33 Question Id : 41652913448 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Consider the following reactions :

| Agzt} ot
A— A
He2+ /H+ NaBH 7l Turbidity
BT Lol Lkt O RSy
conc. HCl B i
‘Alis:
Options:
41652950570, 1=
41650950571 i3~ C=Cl
CH5;-C=C—-CH,
41652952572, '

CH,=CH,
416525952573, = =
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=1 sAfafre = fa=ar =ifew .

Ag O

= ppt [Elﬁ’%q}
A A
Hg2t /H ; B NaBH, c ZnCl,

I HCI}

5 fiqe o

JAF %-:
Options:
41652952570, 1=

41650950571 i3~ C=Cl

CH,—-C=C-CH,
41652952572, 5 '

CH
416525952573, = =

Question Number : 34 Question Id : 41652913449 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
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Correct Marks: 4 Wrong Marks: 1
Which of the given statements is
INCORRECT about glycogen ?
Options:
41655655574 [tis present in animal cells.
It is a straight chain polymer similar
41652952575, © amylose.

SR [tis present in some yeast and fungi.

Only a-linkages are present in the

41652Q5257 7. molecule.
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TS & T H o T™ e H 9
Eapi:i e i

Options:




41650950574, 1€ AT FITHFHTEAT 4 Sfeerd 2
pigessssts Bl

IE FP A2 (FHR) 991 FFh H I

airessssy

AU H A o-FvH 397 ¥

41852952577
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The correct name of the following polymer
15 :
CH
Options:
Polyisobutane

41552352578,

41655950579, Polyisobutylene

r =¥ bl )
41652952550, Polytert-butylene

Polyisoprene
41552952581, 4
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=1 agers 1 =E T ©
CHg

'CHj

‘n
Options:
41652952578, I HTRHIC

41552352579, L



41652952580, Lo S

o L

AT HG
4152952551,
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Benzene diazonium chloride on reaction
with aniline in the presence of dilute

hydrochloric acid gives :

Options:
)j—‘x ,}’—\
2 W T i W
t{‘x }r— N=N i *}—N Ho
 ——— 4 WS
4152952552, — —_
i W A LR
f(x 'K.:'\\ T - if \'\.
¢ S—N=N-NH- )
M / b /
4152952553, — —_
720 NN\
{ S—N=N-—
™, Fé by /
:- I
HaN
41652952584, 2
f;}f \\:\ _.-'{ } '\-\.\-\\
Xl‘x x’—(\ ,.«\)_NI | 2
41652952585, —— =
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1 Wy s W saft A o
EESAHEH RS, U & @y Afafma

= = )
FH TN E :
Options:
__)":f-’ \\\‘\_ T .-":j'f “,
-:{ “-/hI'\:N—f{‘ ‘;—NHE
\'\ r4 N,
41852352582, — —
i W o LR
r ANY 248 Hi i RN
¢ »—N=N-NH- )

LY ; "
41EEZ29525RE. — e



V7 W, /4 .
¢ W _N=N-—< Ny
X / N
ll_,_ﬂ'
H:
41652952554, N
S, b "
rd S, /Y Y
4 ! N-NHj
A / \"x i
41652952585, T —_—
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Heating of 2-chloro-1-phenylbutane with
EtOK/EtOH gives X as the major product.
Reaction of X with Hg(OAc),/H,0
followed by NaBH, gives Y as the major

product. Y is
Options:
Ph /\(\
41652952586, OH
OH
41652952587, Ih
OH
41652952588, |1 I e
41652952589 Phhxmm
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2-FARI-1-HAe=geA %1 EWOK/ EtOH & |1
TH T T X A IS % B H AT B e |
Hg(OAc),/H,0 & |Y X H1 ATqiwm
deqv=Td NaBH, % @9 HAf9fw=n 4 wrd
Y IRl Y '

Options:



Ph /\r\

416525952586, OH
OH
41652352587, Ph
OH
41650950585 Fh e

416528952589, E
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What will be the major product when

m-cresol is reacted with propargyl bromide

'{HC =C—-CH,Br) in presence of K,CO;5 in

acetone ?
Options:
41652952590, CHj
_-OH
'_,.—"
72
g, s
C.H3
41552952591,
OH
I
=
:-"
CHjy

4165259525392,



OH

CHy
41552952593,
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T IS 41 BN 54 m - Thaie %1 UHeH T
K,CO, &1 3ufeafa # wigfsd@ aidss
(HC =C—CH,Br) % @ sifsa faan wman

??
Options:
s
41652952590, CH3
_-OH
,.-—’;.-
3 e
CH 3
41652952591 k
OH
CH3
41652952592,
OH
CHS L
41652952593, —
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An ‘Assertion” and a ‘Reason’ are given
below. Choose the correct answer from the
following options :

Assertion (A): Vinyl halides do not
undergo nucleophilic substitution easily.
Reason (R): Even though the
intermediate carbocation is stabilized by

loosely held w-electrons, the cleavage is
difficult because of strong bonding,

Options:
Both (A) and (R) are correct
statements and (R) is the correct
I, explanation of (A).
Both (A) and (R) are correct
statements but (R) is not the correct
explanation of (A).
4165259525595,
(A) is a correct statement but (R) is a
416529505gg,  Wrong statement.
Both (A) and (R) are wrong
41652952597, Statements.

Question Number : 39 Question Id : 41652913454 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
T R T U R S fen e
fre farehedl & 9 @@l S 1 T Fifo
FIF (A) : fasa Bemss #1 Afvyward
YieEaTTq ST J A8l 2 |
HAUT(R) : 3AgE w-Feiagi+l GRI HeAdl
FrEIFE & T & g o, Foel S=sH
% R faeeq &fs g
Options:
(A) T (R) <1 T&t & 7941 (R), (A) F
4165295504, T S T

(A) T (R) S W& € T (R), (A) F
41650952595, e A TE ¥



A16500505gs. (A) TE B T (R) 7T

41652950507, (A) T (R) SFI &l e € |
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Which one of the following is likely to give
a precipitate with AgNO; solution 7
Options:
41652952598, T

CHCl,
41652952599 :

416524952600, (CHy),CC

41650050601, 12— CH-U
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71§ @ format AgNO, Taera= % =1y =8y
& F1 {9 §?
Options:
41652952598, Se’

CHCl,
41652952599 :

416524952600, (CHy),CC

41650050801, 12— CH-U

Question Number : 41 Question Id : 41652913456 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
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In comparison to boron, berylium has :
Options:
greater nuclear charge and greater

L 1 1 C i IV,
41655950602 first ionisation enthalpy



lesser nuclear charge and greater first
41659655603 ionisation enthalpy.
lesser nuclear charge and lesser first

ionisation enthalpy.
41552952204, "

greater nuclear charge and lesser first

ionisation enthalpy.
41EE295E2E05. G
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ARA H G | Sy T ©
Options:
T ATHRE A T I T9H
41652952602, AT TRl

@ Iy == 991 =9 999
41650952603, A TR

= ity =mew 991 fF=aT 999
41852952604, 04 'Q_a“ |

TG AMIFE A=Y 991 =9 999
41652952605, N T
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The correct statement is :

Options:
the blistered appearance of copper
during the metallurgical process is
—— due to the evolution of CO,.

pig iron is obtained from cast iron.
41552952207,



leaching of bauxite using
concentrated NaOH solution gives

sodium aluminate and sodium

41652052605, Silicate.

the Hall-Heroult process is used for
the production of aluminium and

41652952609, oM

Question Number : 42 Question Id : 41652913457 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
e U
Options:
YTfceeh YWY & =9 FI9 F1 for2e Y
41652952606 CO, F A 3 R B 21

FTEE AEIA (g@Adreiar) § fam
Alesoosogys, AGI( I weT) Wra fF =
% NaOH foe@ =1 94 #3d &
ATFATEZ T AeAIe Ffeam e a2
41652952608 Hifem foefise 2 )
TEHIFEH T AFEA & 3caeq & fau

41652952609, o1 edee HehH T Bl 2 |

Question Number : 43 Question Id : 41652913458 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The temporary hardness of a water sample
is due to compound X. Boiling this sample
converts X to compound Y. X and Y,
respectively, are :

Options:

41650950610, MB(HCO;); and Mg(OH),

41650950611, M8(HCO;); and MgCO,4

ilessosogys —AHCOs), and Ca(OH),



41650050g13, —a(HCO;), and Cal

Question Number : 43 Question Id : 41652913458 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

el Afeael i STEmE HSRA A X F FR
1 59 widey i Iee | X 920w A1 Y
ML X qAY, T, €

Options:

Aless9sssin. M8(HOO3),; T Mg(OH),

dvecssnsaiy TS, THEMeCO,

A1652950610 —AHCOs), T Ca(OH),

41652050513, CA(HCO;), 741 Ca0O

Question Number : 44 Question Id : 41652913459 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The INCORRECT statement is :
Options:
LiNO, decomposes on heating to
ive LINO, and O.,,.
41652950614, © 2 2
Lithium is the strongest reducing

Sl agent among the alkali metals.

Lithium is least reactive with water

4165205061, AmOng the alkali metals.

LiCl crystallises from aqueous

; G
41652950617, solution as LiCl-2H,0.

Question Number : 44 Question Id : 41652913459 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Ted F97 €
Options:



LiNO,, TRH & T 379efed & LINO,
d91 O, AT 2|
41652952614, g
AN gl | SfaTs gaeds Sa=E
41652952615, FHF €|

W 9l | SEE 96 & q91 gad
41652950615, T FATHAIEA & |

LiCl st faer== 9 LiCl-2H,0 & &9
Alespasoglr. A e Bl Tl

Question Number : 45 Question Id : 41652913460 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The C—Cbond length is maximum in :

Options:

C{"l'.l
41652952618, "

raphite
41529526149, grap

41652952620, lamond

Co
41652952621

Question Number : 45 Question Id : 41652913460 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
=1 5 1 fFd € - C wraey o= Afasay
27

Options:

€.
41652452618, 60

416525952619, :
41652852620,

41552352621,



Question Number : 46 Question Id : 41652913461 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Thermal decomposition of a Mn compound
(X) at 513 K results in compound Y, MnO,
and a gaseous product. MnO, reacts with
NaCl and concentrated H,50, to give a
pungent gas Z. X, Y, and Z, respectively,
are :

Options:

41652952622, K,MnQO,, KMnO, and 50,

a1652952623, MOy, KoMnO, and Cl,

41650950604 T2MNnO,, KMnO, and Cl,

41650950605 FaMnOy, K;MnO, and Cly

Question Number : 46 Question Id : 41652913461 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

513 K W, Us Mn 1T (X) T q9F A2
T ATF Y, MnQ, T91 T THG 315 91
B €1 NaCl 91 9% H,S0, ¥ MnO,
AfafF FF TH A T Z SME | X, Y a9
7 HE: T ;

Options:

41652952622, 7 -

KMnO),, K,MnO, 1 Cl,
415523952623, = =

K,MnO,, KMnO, 71 CL,
416528952624, < =

41652952625, : = &

Question Number : 47 Question Id : 41652913462 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The pair that has similar atomic radii is :

Options:



41652952625, 11and Hi

41650952607 Mnand Re

41652050625, ocand Ni

J K T
41650952609, Moand W

Question Number : 47 Question Id : 41652913462 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
2
Options:

41650950606, 11 AW HE

41650952607, N T4 Re

41650952608, € A Ni

41650052609 Mo AW

Question Number : 48 Question Id : 41652913463 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The compound used in the treatment of
lead poisoning is :
Options:
41652952630, O-penicillamine

41552852631, tREn

41652952632, Cis-platin

41652952633, desferrioxime B

Question Number : 48 Question Id : 41652913463 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
e foufemar % STaR & vga 4 2 -

Options:



41652852630, D4 THIR

4165259526351

41852952632,

415523852633, ~ | HIgH B

Question Number : 49 Question Id : 41652913464 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The coordination numbers of Co and Al in
[Co(CI)(en),]ClI and K5[ANC,04)5].

respectively, are :
(en=ethane-1, 2-diamine)

Options:

41650950634 0and6

41650950635, and3

4165005063, ° and6

5 3
418529526357, 2 and

Question Number : 49 Question Id : 41652913464 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
[Co(Cl)(en),]C1 @ K4[Al(C,0,)5] H Co
4T Al 1 STHREATSH HEaH, wE:, ©
(en= WIA-1, 2-SEUHMA)
Options:

416525952634, oG

41552352635, STHRD

416529526356, 2 TS

. 3
41E52852637. R

Question Number : 50 Question Id : 41652913465 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 4 WrongMarks: 1
The primary pollutant that leads to

photochemical smog is :

Options:

OZOne
418529526358,

41652050639 Sulphur dioxide

acrolein
415529525240,

41650950641, Mitrogen oxides

Question Number : 50 Question Id : 41652913465 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
WG WU o FRERIEEES qqFe da
FAT, T

Options:

41552352638,

416525952639,

41652952640, ThIeT

41852952641,

Question Number : 51 Question Id : 41652913466 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

25 g of an unknown hydrocarbon upon
burning produces 88 g of CO, and 9 g of
H,O. This unknown hydrocarbon
contains :
Options:
41652955642 20 g of carbon and 5 g of hydrogen

2 ’ ; -
41652952543, 2+ 8 of carbon and 1 g of hydrogen

41652952644 22 g of carbon and 3 g of hydrogen



18 g of carbon and 7 g of hydrogen
41 552952E45, ’

Question Number : 51 Question Id : 41652913466 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
T 37T BIESlHE 25 g T F W88 g
CO, T4 9 g H,O 091 2 ¥ 59 39

gEelTe | 4 gi-ied 8,
Options:
4 .
41650950640, 20 8 FHT TS g BIEE

24 o THEA HEEIE G
41650952643, 21 8 T 1g oe

2 o FEA 3 ¢ BISEMEA
41EE2952644 4.8 L & -

41652952645, 10 8 T T 7 g ¥Ies

Question Number : 52 Question Id : 41652913467 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The ratio of number of atoms present in a

simple cubic, body centered cubic and face
centered cubic structure are, respectively :

Options:

416525952646,
41552352647,
41652352648,

416525952649,

Question Number : 52 Question Id : 41652913467 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
A T4, Hd:hi=d TG 991 Helh Hi=d
= TIEA | SO ] i HE
ST FEI:, B

Options:

41652952646, D110



1:2:4

4152952547,
i e
41552952548,
e I
4152952649, 2:2:1

Question Number : 53 Question Id : 41652913468 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Among, the following, the energy of 2s
orbital is lowest in :

Options:

41652852650,

41552352651,

41650950652, @

41852952653, B

Question Number : 53 Question Id : 41652913468 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
71 H, 25 FeF &l el (F9H a9 22

Options:

416525952650,

415525952651,

41650952652, @

41650950653, -

Question Number : 54 Question Id : 41652913469 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

The INCORRECT match in the following
is :
Options:

D .
41652952654, A6 <0, K>1



AGO < <
41552952555 AG 0,K<1

AcD
41652050656, AGT>0,K<1

I ﬂ': =
41652352657, AR h=d

Question Number : 54 Question Id : 41652913469 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
= 3 T Thems frad 22
Options:

a0 s
41652050654, AG <0,K>1

AGO < <
416529526855, AG LR

AD
41652050856, AGT>0,K<1

) ﬂ: —
416525952657, A R

Question Number : 55 Question Id : 41652913470 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
A solution is prepared by dissolving 0.6 g
of urea (molar mass=60 g mol "!) and
1.8 g of glucose (molar mass =180 g mol h
in 100 mL of water at 27 °C. The osmolic

pressure of the solution is :
(R=0.08206 L atm K~ ! mol ™ })

Options:

4.92 atm
41552952258,

2. 46 atm
41552952559,

41650950660, 1-04 atm

E
416525952661, BB

Question Number : 55 Question Id : 41652913470 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



27 °C W, U faer@ =1 100 mL S H 0.6 g
i (HieR Z=HA=60gmol ') d411.8¢g
ﬂﬁlﬁ(ﬁ@ﬁaﬂqﬁ=lﬁﬂgmol 1) gy
TR T T faeEE 1 W 5= 2w
(R=0.08206 Latm K ! mol 1)

Options:

492 atm
41552952558,

2.46 atm
41552952859,

41650950660, 1-0%am

':l-.
41650050851 2atm

Question Number : 56 Question Id : 41652913471 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
In which one of the following equilibria,

Kp#Ke?
Options:

NO,(g) + SO,(g) = NO(g) + SO4(g
41652952662, 2(8) 2(8) g ) 3(8)
2 HI(e) = Ho(g) + Ir(g
41652952663 (g)=Ha(g) + I2(g)

2C(s) + O4(g) =2 CO(g
srpssesvaan — ookt Ozlg (8)
2 NO(g) = N» (g) + On(g'
41652952665, (8) 2(g) + Os(g)

Question Number : 56 Question Id : 41652913471 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
fret b s T F K, # K 7

Options:

NO. (2} 4+ SO-(o)— NO(e) + SO= (o
41652952662, 2(8) 2(8) Xg) 3(8)
2 HI(e) — Ho(e) + I»(e

41652952663, (g)=Ha(g) + 12(g)

2C(s) + O4(g)=2 CO(g
41652952664, (s) 2(8) (8)



2NO(g) = N (g) + Os(g’
41652952665, (8) 2(g) + Os(g)

Question Number : 57 Question Id : 41652913472 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The molar solubility of Cd(OH), is
1.84 107> M in water. The expected
solubility of Cd(OH), in a buffer solution
of pH=121is:
Options:

-y 171
41652952666, 6.23x10 M

2 10 3,
416525952667, SN W

249 o
% 10 9[’\1

416525952668,

; 9N
416525952669, LAIxIGTEM

Question Number : 57 Question Id : 41652913472 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

9@ ¥ Cd(OH), &1 Hi@x faeigal
1.84 103 M | pH =12 F U I e
H CA(OH), = Tefaq faeraan 2
Options:

-y 11
41650952666, DX 107TM

" 10y, .
41652952667, 249x10 M

249
1.84

x 1077M

41552352668,

/ R Y
41650952669, -B4X107°M

Question Number : 58 Question Id : 41652913473 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



The decreasing order of electrical
conductivity of the following aqueous

solutions is :

0.1 M Formic acid (A),
0.1 M Acetic acid (B),
0.1 M Benzoic acid (C).

Options:

= =
41652852670, AzleC

- >
416529526?1.C G

>h>
416525952672, e

= =
41E5285267 3. B ErD

Question Number : 58 Question Id : 41652913473 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
&

0.1 M TIfH ufgz (A),

0.1 M Tfgfes ufge (B),

0.1 M ==sirgs wfae (C).
Options:

>h>
416525952670, Azfel

> >
416529526?1.C il

>h>
A1E5285267 2, e

= >
41552352673, RPE>D

Question Number : 59 Question Id : 41652913474 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



I*»I*D2 required for a reaction is produced by
the decomposition of NEOE in CCEQ as per
the equation,

2 N,05(g) = 4 NO»(g) + Oa(g).
The initial concentration of N?_DE is
3.00mol L~ 'and itis 2.75 mol L ! after 30

minutes. The rate of formation of ND?_ is :

Options:
dri 3 1 : 1
41655950674 4167 x10"° mol L™ * min

3 1 . 1
41850950675 9-333 X 1072 mol L™ * min

3 1.
41650950676, 2-083 X107 “ mol L™ min

| s .
41650050577 1-067 X107 <mol L™ " min

Question Number : 59 Question Id : 41652913474 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

s AfafsFa % fau sEeas: NO, %1, |
N,O, % 39929 GRI 391 & &, S
e et

2 NpOs(g) — 4 NOa(g) + Oa(g)

N,O %1 WRfF& Ar=al 3.00 mol L~ ! @4
30 a9z % =% =1 "rEar 2.75 mol L™ ! B
NO, & T=a 1 T &

Options:
41650950674, 4167 %10 *mol L~ ! min !

3 1 : 1
4165565057 8:333 X107 mol L~ ! min

41655952675 2083 x 107" mol L™ " min

| s -
41650050577 1667 X10~*mol L~ ' min

Question Number : 60 Question Id : 41652913475 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Among the following, the INCORRECT

statement about colloids is :



Options:
The range of diameters of colloidal

particles is between 1 and 1000 nm.

41552952578,
41652650575, 1hey can scatter light.
The osmotic pressure of a colloidal
solution is of higher order than the
true solution at the same
FideasetEas concentration.
They are larger than small molecules
41652650681 and have high molar mass.

Question Number : 60 Question Id : 41652913475 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

HIeiced & = ¥ = weE 8 9w w

TeAd 2 ?
Options:
Fiemssl FU0 F =AW F1 W
41652950678 1 O 1000 nm & =9 2 21

416509502679, 1 T 1 FHI H ek €|

U% @ Higdl W, FEel faaga7 =
T g1, Ardtae [9ordq & 51" &
e H IS A A g |

41852952680
q BI AUHAT F qorT H 92 B & IR
41650952651 S VO TR 5 R T
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Question Number : 61 Question Id : 41652913476 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Let A, B and C be sets such that
$#AnBcC. Then which of the

following statements is not true ?

Options:

41652052682, O CF®

41652952653, (CWA)N(CUB)=C
41650050654 1 (A—B) = C, then ASC
41652952685, If (A—C) = B, then ACb

Question Number : 61 Question Id : 41652913476 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
T =" A, B 91 C 50 951 & &%
$=AABCC, @ = HH F @ F91 99

T E?
Options:
BrCzd

416529526872,
41650950653, (CWA)N(CUB)=C
41652952684, T (A-B) S C 1l AcC

I(A-C) = B, AcB
prEssosonns  IRA-CLC B W

Question Number : 62 Question Id : 41652913477 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



Let z € C with Im(z)=10 and it satisfies

2z .

s = 2i — 1 for some natural number

22

n. Then :
Options:
41650950656 =20 and Re(z) =10

='j T — -

41650050657 =20 and Re(z)=—10
4165295265, 1= 20 and Re(z) =10
41650050659 N =40 and Re(z)=-10

Question Number : 62 Question Id : 41652913477 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
A1z e C T80 A Im(z) = 10 T2 Tl wTahd

. x 2z— n o
iz n

FIA T, T

Options:

=2 a7y =
41650950656, 120 T4 Re(z)=10

='j =1 E — =
41650052657, 120 T Re(z)=—10

RS EE SR n=40 T349I Re(z)=10

41650052659, N—20 MM Re(z)=—10

Question Number : 63 Question Id : 41652913478 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
If o, p and ~ are three consecutive terms of
anon-constant G.P. such that the equations
ax?+2Bx+vy=0 and x2+x—1=0 have a
common root, then «fp + ) is equal to :

Options:

41852952630, &



af3
416529526491,

oy
41652952692,

4185295265935, 0

Question Number : 63 Question Id : 41652913478 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

e T 9= TE1 1t Ui 4@ o 9 HErT
TS o, p T4y 50 THE & T FHiHI0
o2+ 2Bx+y =009 22 + x— 1 =0 F UF HdA
W%.?ﬁu{[_’.+}r]mm%:

Options:

41652052690, PY

o
41652952691,

oy
4152952692,

4165259526593, 0

Question Number : 64 Question Id : 41652913479 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
A value of 8 € (0, w/3), for which

1+cosZ# sin~h 4 cosab
CDSEH 14 51112!] dcosbhl | = 0,1s:
cos20 sin~h 144 cosel
Options:
i1
8
41552952694
T
41552952695, 9
71
24

4165259526596,



T
Py

41652852697, 0

Question Number : 64 Question Id : 41652913479 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 4 Wrong Marks: 1

0 e (0, w/3) =1 TF AM, o fag

14 coszl! sin 0 4 cosbi

cosZ0 1+sin20) 4cosbll | =10 %’,%’

cos =0 sin~0 1+4 cosbi
Options:
1
8
41 eE2aEzE9d
1
41552952695, 9
71
4152952898, 24
.?’:T

41652952657, 20

Question Number : 65 Question Id : 41652913480 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
If [x] denotes the greatest integer =x, then
the system of linear equations
[sinB]x +[ —cosb]y=0
[cotb]x +y=0

Options:
has a unique solution if
m 217 ( 71
Be|l—, — | W 1':1', , |
53 2 r \, E. ri
41552952598,

have infinitely many solutions if

I f
Be E,—

4165259526599,



] .2' "I
has a unique solutionif 6 e [1 : |
e -__.l

r

and have infinitely many solutions if

i) E[':T, EJ
: 6

have infinitely many solutions if

416523852700,

r

.
ge| ﬂ} and has a unique
o S 1

solution if 0 & [F.r, 2]
\ E' F

416525952701,

Question Number : 65 Question Id : 41652913480 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
afe [x] HETH UIE <x B, A TEE T
IGEIR

[sinB]x + [ —cosB]ly=0
[cotb]x +y=0

Options:
=1 91 UF A ¢ Il

(':r 21T [ ?'n'}
Be|—, — | W | .
2 3J 6 )

415528526598,

T 21 ( 7m
be Tl L I W, —|.
T R AN
4152952699,

T 27

qumwﬁﬂ%wﬁae{—, -

Jﬁ!ﬂ

[

| e
I A € 4t o E{n.r, ﬂj
41652952700, 6

FATTTACTAC O ¢ [% zan] T4 HEH
£ 3

ﬁgﬂ%aﬁ B E[':T, ?—ﬂ—}

4152952701 6



Question Number : 66 Question Id : 41652913481 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

A group of students comprises of 5 boys
and n girls. If the number of ways, in which
a team of 3 students can randomly be
selected from this group such that there is
at least one boy and at least one girl in each
team, is 1750, then n is equal to :

Options:

41652852702, 24

41552352703,
416525952704,

41852952705,

Question Number : 66 Question Id : 41652913481 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

faenferdi F U= "9 9 5 ©s® a9 n ASFHA
g ofz 38w § 9 o faenfdE = 9
g9 54 WK I o 940, Toh T 2
H FH H FH UF dSH 99 FH H w4 TH
GECIN 1?50%, T n AEE

Options:

4155235270%, 24

416525952703,
41652852704,

41552352705,

Question Number : 67 Question Id : 41652913482 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The term independent of x in the expansion
x

8% f

f{l ' [213 31 is equal t

QO S | TR 1S 2gu O.:
lE"U B]J ! Jrz/. eq



Options:

41652952?06_'_103
- 72
41652952707,
41652952?[:38_"'?*{j
41652952709, 0

Question Number : 67 Question Id : 41652913482 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

1 )ifs  BY s .
— - |2 - 5| FwmRHAxY
60 81 2)

EAA TS T
Options:

41652952?06_'_103

41652852707,

416525952708,

416525952703, 36

Question Number : 68 Question Id : 41652913483 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
If ay, 8y Az, .o are in A.P. such that
a; +a-+a;; =40, then the sum of the first
15 terms of this A.P. is:

Options:

416525952710, 150

2
41852952711, 120

2
416525952712, o

2
41652852713, A0

Question Number : 68 Question Id : 41652913483 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 4 WrongMarks: 1

?Jf;c{al,a_n,_,ay ...... wwﬁéﬁmm%
ﬁﬁa[ +a?+a“-}=4[l%. 59 99 gl &
TH 15 TS1 1 GRTHA T

Options:

416525952710, 150

41852952711, 120

41652852712, 2

2
416525952713, A0

Question Number : 69 Question Id : 41652913484 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
If 20C, +(22) 20C, +(32) 20C,+
+(20%) 29C,, = A(2P), then the ordered pair
(A, B) is equal to :

Options:

41552352714, (330,18)

41652852715, (380, 19)

42
416528952716, (£20.18)

A
41552352717, (£20.19)

Question Number : 69 Question Id : 41652913484 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
afg 20C, + (22) 2°C, +(32) 20C, + ........
+(202) 20C, = A(2P), d1 T T (A, B)
T E

Options:

41652952714, o0 15)

41652852715, (350, 19)

49
41652952716, (420,18)



49
41652952717, (420,19)

Question Number : 70 Question Id : 41652913485 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
x + 2sinx

lim :
5 2 . . 2
x=04x? 4 2 sinx + 1 Vsin“x —x + 1

is :
Options:

41852952715,

-2

41652852719,

416528952720,

41652852721,

Question Number : 70 Question Id : 41652913485 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
x + 2sinx

) . g )
F 2sinxy + 1 vsin“x —x + 1

lim .-
r— \'II_IE

AL E ;

Options:

41652852718,

I3

4165259527149,

41552352720,

416528952721,

Question Number : 71 Question Id : 41652913486 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

o= A
e _1( sinx — cosx
The derivative of tan Il ——— e,

| sinx + cosx )

LI

15

x T
with respect to el where l e [ 0, Eu

Options:



41652852722,

k3| =

415523852723,

3

416528952724,

WK

41552352725,

Question Number : 71 Question Id : 41652913486 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
F Ay tan_ll _
, SINX + COSX )

g

, dAel

siny — cosxy |

Pd | =

h!

1 HIFAT B -

pr—

'd __r-.
xel[], '—|
| 2.

s

Options:

d16528952722.

B3| =

416525952723,

o]

41852952724,

W N

416525952725,

Question Number : 72 Question Id : 41652913487 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The tangents to the curve y=(x —2)>—1 at
its points of intersection with the line
x—y=23, intersect at the point :

Options:

41652952726, d

41552352727,



41652952728, 4

41652952729, 4

Question Number : 72 Question Id : 41652913487 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
THy=(x—2)2—1F Wlx —y=34 gfa=sed

gt W =3k =1 TovieaE = 3 g fag
7 fyerdt 27
Options:
.f5 L
3!
2 )
41652952726,
5 3
-3
L et
41652952727,
; A
5
\.2 A
41652952728
5 %
-3
L )
4152952729,

Question Number : 73 Question Id : 41652913488 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Let flx) = 5—|x — 2

x e R. If fix) attains maximum value at «

r

and g{:s.'}=.|;: + 1

and g(x) attains minimum value at 3, then

(x — 1)(x? — 5x + 6)

lim

is equal to :
'j i ]
r——op A bx + 8

Options:

5

41852952730, /2
—-1/2

4150952731, /2

.
41852952732, 3/2



—-3/2
41552852733, 3/2

Question Number : 73 Question Id : 41652913488 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
A flx) = 5—|x — 2| T glx)=|x + 1],
xe R. AR flx) F1 ARIFHIH A T T A g(x)

3

%1 FATH HA B W 7,

-

. x— Nx* 5x + 6
lim { A ) W%:
x——ap x — 6x+8
Options:
¥
41E529527320. 1";_
L )
41EEZ29527=21. 1’;_
g
41652952732, Ef_
_3/9
41EE29527E3, 3’;_

Question Number : 74 Question Id : 41652913489 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Let « € (0, 7/2) be fixed. If the integral
l‘ta.nx b tano
-'tan.r tan

dx=

A(x) cos2a+ B(x) sin2a+C, where C is a
constant of integration, then the functions
A(x) and B(x) are respectively :

Options: _
SR x—aand log, |5'Ln{x u]|
41650955735 X +a and.lngﬁ |si1"|{;r zt]|
41652952736, and log[cos(x — a)
Jieeay e and.lngﬁ [sin(x + «))|

Question Number : 74 Question Id : 41652913489 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1



A a e (0, w/2) femm &1 afs wawa
ftanx + tana
Jtanx — tana
A(x) cos2a+ B(x) sin2a+C, W@l C T
TS 3T9R 8, 0 el A(x) 991 B(x) FHI:

Options:
x—a 3T log .. |sin(x -
41652952734, i Be [sin(x — o)
x+a AR -T.D sin(xy — «
41652952735, e [sin( )
r—ao ?rji[flo cos({xy — w
41652952736 B [cOS( )
x+a 3R log, |sin(x + o)
41652952737, :

Question Number : 75 Question Id : 41652913490 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

A value of a such that

fﬁl & ey [E} :
(xta) (xtatl)  Be g) 5

e

Options:
1

416525952738, 2

2
41852952739,

s
41652352740,

b | =

416525952741,

Question Number : 75 Question Id : 41652913490 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

o T TF 7H, f5as fom

g+ L'h’ . .-’9
r!{x'ﬁ}{l’lu'li} = IDBE gwa%

% S




Options:

CY =y

416525952738,

I~

41552352739,

416525952740,

b | =

416525952741,

Question Number : 76 Question Id : 41652913491 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
If the area (in sq. units) bounded by the
parabola y3=4hx and the line y=Ax,

A>=0,is l then A is equal to :
0
Options:

41652852742, 4”5

416525952743, '"‘I{g
41552352744,

41652852745,

Question Number : 76 Question Id : 41652913491 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
qfe TEed y2=4Ax 91 1MW y=A\x,
x>0, o &3 =1 dFwa (T Twedi ) L
9
T, T\ = E
Options:

416528952742, 4ﬁ

41650050743 2V/6

41852952744,



415525852745,

Question Number : 77 Question Id : 41652913492 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

The general solution of the differential
equation (2 —x3) dx — xydy =0 (x#0) is :
(where c is a constant of integration)
Options:

+. 5 i Ty g .
41652052746, YVt tar=0

e =k .

41552352748

416525952749,

Question Number : 77 Question Id : 41652913492 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
HIFA FHFI (y2—23) dx — xydy=0
(x=0) 1 =TF B € :
(Tl ¢ U HHIFEH 91 8)

Options:

/S i L
41652050746, Y-t 2 tar’=0

41652852747,

41652852748

41552352749,

Question Number : 78 Question Id : 41652913493 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
A straight line L at a distance of 4 units from
the origin makes positive intercepts on the
coordinate axes and the perpendicular from
the origin to this line makes an angle of 60"
with the line x + y=0. Then an equation of
the line L is :



Options:

[\EI l}xl{ﬁ l]y=3\5

41652952750
41652952?5L.[Jﬁ- 1)x + (V3 + 1)y =82
41652952?52..J§i'+y =8
41652952753, I+;JEH =8

Question Number : 78 Question Id : 41652913493 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
HeAfag H 4 THE &l 90 T U 30 L
v 18l W ¥R S @vE FAml § a9
Hefag | 79 1@ W @d, Wiy +y=07F 919
60° =T HT0T =TT 2 | T 1T L 1 Ueh HHIH

3.
Options:
3 ; 3 — 82
41652952750, (V3 +1)x + (V3 — 1)y =82
3 —1)x+ (VB + 1)y =82
41652952751, (V3 1)+ (¥ Jy = 82
41652952752, V3x +y =8
41650952753, v+ 3y =8

Question Number : 79 Question Id : 41652913494 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
A triangle has a vertex at (1, 2) and the mid
points of the two sides through it are
(—1,1)and (2,3). Then the centroid of this

triangle is :
[lr I
3 )

41852952754,

Options:

416524952755, - /



41652952756, ° e,

41652952757, 3

Question Number : 79 Question Id : 41652913494 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

T A 1 UF 9 (1, 2) W T A 59 TR
ST et 51 yeed ® ge-fag (— 1, 1) #iR
2,38 B R T

Options:

k1

(1
15

416523852754

41652952755, - /

41552352756,

416525952757,

Question Number : 80 Question Id : 41652913495 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

A circle touching the x-axis at (3, 0) and
making an intercept of length 8 on the
y-axis passes through the point :

Options:

‘%
416525952758, (3-10)

(3,5)

416525952759,

41652852760, (1.5)

(2,3)

415523852761,



Question Number : 80 Question Id : 41652913495 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
x-A9 1 (3, 0) T DI HIAT FHA T y-AH W
8 4TS #Hd:@UE (intercept) T g1 T
5 fore 3 @ forw g @ Bra W 87
Options:

‘1
41852952758, (3,10)

(3,5)

41852952759,

41652852760, (1,5)

(2 3)

416525952761,

Question Number : 81 Question Id : 41652913496 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The equation of a common tangent to the
Curves, l.r3= 16x and xXy=— 4 is:
Options:
. =
41652950762, ¥ 2y +16=0

xt+y+4=0
41652952763,

RO,
41650950764 XY +2=0

41650050765, ¥ Y TA=0

Question Number : 81 Question Id : 41652913496 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Tl y>=16x 941 ay= —4 FHl T&H A
TIYET o THE E

Options:

e =
41650950760, X2y +16=0

x+y+4=0
416852952763,

Ty — e
41650952764 XY +2=0



41650050765, ¥ Y TA=0

Question Number : 82 Question Id : 41652913497 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
An ellipse, with foci at (0, 2) and (0, —2)
and minor axis of length 4, passes through

which of the following points ?

Options:

(2, 2)
41652952766,

(1, 2v2)
41652952767,

(v2, 2)
41652952768,

(2, 24/2)
41652952769, :

Question Number : 82 Question Id : 41652913497 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
U Sreig, foment i (0, 2) 991 (0, —2) W
& a1 Torer o A1y # o4 B, e A g

fFa fag A s 27
Options: _

(2, 2)
41652452766,

(1, 2v2)
41652952767,

.[JE,Z'
41652952788,

(2, 24/2)
41652952769, :

Question Number : 83 Question Id : 41652913498 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1



A plane which bisects the angle between
the two given planes 2x—y+2z—4=0and
x+2y+2z—2=0, passes through the

point :
Options:
1, —-4,1
41652952770, { }
o
41652952771, {“'_1" 1]
5, Sy
418E2952772. V7 4, 1}
(1,4, —1)
41652952773,

Question Number : 83 Question Id : 41652913498 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

31 fau o WAl 2x—y+2z—4=0 A9
x+2y+ 2z — 2= 07 =9 % I Sl FHIGHIST
FAA TF guad, T ° | fF fag 3 2

e ?
Options:
41650050770, (b ~ 1)

I,
41650052771, (&4 1)

o T

41650950772 (& 4 1)

(1,4, —1)
41652952773,

Question Number : 84 Question Id : 41652913499 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The length of the perpendicular drawn
from the point (2, 1, 4) to the plane

containing the lines
r=(i + j)+Ni +2j - k) and
ro=(i +j)+m—i + j — 2k) i

Options:



41652852774,

41652952775.
1
41652952776, O

1
416523852777, "E

Question Number : 84 Question Id : 41652913499 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

—

@A = (i 4 j) 4N + 2 — k)
ro=(i +j)+p(—i + j — 2k) A
FTd F9ad T a5 (2, 1, 4) 9 =@ T &=
M T

Options:

416528952774,

41652952775
=
41652952776, O

1
A16528952777. \ﬁ

Question Number : 85 Question Id : 41652913500 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

Let « € R and the three vectors

! ! !

a=ai +j+3k b=2i+j—ak

— Y P

and ¢ — i — 2j + 3k- Then the set
S={a: a, b and ¢ are coplanar}

Options:

41652952778, 1 CMPLY



is singleton
41652952779, &
contains exactly two positive
41652952780, numbers
contains exactly two numbers only

one of which is positive
41552952781,

Question Number : 85 Question Id : 41652913500 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
~ —3 A M M
Al ae RANMAATET 5 — o 4 j + 3k

A S ~
i + 1 ok R

ol
[l
2

Options:

Alesoosorys, TR B

41652952779, i

a1650050750, A TAT: (exactly) 31 ICF HEAd ¥ |

H qed: 9 9= © T | had U

416852952781, %l

Question Number : 86 Question Id : 41652913501 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
A person throws two fair dice. He wins
Rs. 15 for throwing a doublet (same
numbers on the two dice), wins Rs. 12 when
the throw results in the sum of 9, and loses
Rs. 6 for any other outcome on the throw.
Then the expected gain/loss (in Rs.) of the
person is :

Options:

e
41852952782, gamn



loss

M [

416525952783,

gain

b | =

41652852754,

i

— loss
41652952785, 4

Question Number : 86 Question Id : 41652913501 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

UF A & A (fair) TH I | TH
f5% (S T9 W U # HE'm) HH W AR
¥, 15 Sl €, S IE W S s # A9
BH W %, 12 Siaal & a1 R e i
(outcome) T . 6 BT ©1 T IW =Afe
T (expected) T4/ (£.H) (&
Options:

41852952782,

41652952783, 2
=y 1

41652852754, 2

1
i -
41852952785, 4

Question Number : 87 Question Id : 41652913502 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
Foraninitial screening of an admission test,
acandidate is given fifty problems to solve.
If the probability that the candidate can

solve any problem is E, then the

probability that he is unable to solve less

than two problems is :

Options:



41652952786, -

ETE
41652952787, 5 5)

41852952788,

3| g
| =
S o

£

41552352759,

Question Number : 87 Question Id : 41652913502 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

R ST o foru s ey wien § v wiyenet
+1 TG U9 g6 3 % fou fau o €1 3fe
qienet % T s 99 1 2 F HEA
HTFQ?HT%%’ 91 3HF 1 9 FH 9 F B

F H 99 B I qIfEHa ©
Options:
49

2[:1{’11
41652952788, 2

54( -l}
41652852787, 5 5)

m[& .

L

41652952788, )

s
41652852789, 2515)

Question Number : 88 Question Id : 41652913503 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
Let S be the set of all « € R such that the
equation, cos2x + asinx=2a—7 has a

solution. ThenS is equal to:



Options:

R
418529527390,

5 &
416528527391, 2. 6]

416525952792, 11.4]

416525952793, 1371

Question Number : 88 Question Id : 41652913503 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1

AT 99T ace R,ﬁ?sﬁﬁ’l%muﬁ‘rw

cos2x + asiny=2a—7 FIUF EA &, HHT=ET
ST WS T T :

Options:

R
418529527390,

5 &
416528527391, 2. 6]

416525952792, 11.4]

416525952793, 1371

Question Number : 89 Question Id : 41652913504 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 WrongMarks: 1
The angle of elevation of the top of a vertical
tower standing on a horizontal plane is
observed to be 45° from a point A on the
plane. Let B be the point 30 m vertically
above the point A. If the angle of elevation
of the top of the tower from B be 3(°, then
the distance (in m) of the foot of the tower

from the point A is:

Options:

15 (3 — V3)

4165289527394,

15 (3 + 3)

416528527395,



15 (1 + 3)

416525952796,

15 (5 - V3)

416528527397,

Question Number : 89 Question Id : 41652913504 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1

Afas a1 W @2 U Ity {EE F fIeat &5
e W U fag A ¥ 5939 FM45° ¥ 1 5
fag A9 30 Wi A S A< B &1 AfEB
T HiHR % Torat =1 3997 FI30° 8, o 9AR
% uE #f fag A 9 <0 (He ) 7

Options:
3 —+f3
41EE2952794, 15 [ \{{_1
_ _
! 3
41EE2952795, 15 [3 e :I
15 (1 +/3)
41652952796,
15 (5 — V3
416529527497, J

Question Number : 90 Question Id : 41652913505 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 4 Wrong Marks: 1
The Boolean expression ~ (p—=(~q)) is
equivalent to :
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